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(1) We had a wonderful journey from London to Paris last September. (3 43)
(2) A professional baseball player might have an income of six figures. (3 43)
(3) Both butter and cheese are dairy products. (3 43+)
(4) Jeff has frequently gotten drunk since he lost his job. (3 43+)
(5) What do you usually do for recreation? (3 43)
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1. (10%) The uniform rod has a length ¢ and weight W. It is supported at one end A by a smooth
wall and the other end by a cord of length s which is attached to the wall as shown. Show that
for equilibrium it is required that h = [(s* ¢3/3]".

|

2. (12%) The slotted arm OA oscillates about O and drives the crank CP through the pin P.
If d 6 /dt = 2 rad/s clockwise, d* @ /dt’ = 1.2 rad/s’ counterclockwise and b = 200 mm, 6 =
30°, determine the magnitude of the v-'city and acceleration of P.

Range of oscillation

3. (13%) A metal hoop with a radius r= 6 in. is released on the 20° incline. If the coefficients of
static and kinetic friction are /7 =0.15 and £« = 0.10, determine the angular acceleration @
of the hoop.
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